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And next to it; ‘if for a thanksgiving’ - 770 DY AR 790 IR

Overview

The ®n»12 derived from various 2°p105 that by n1217p (of 2w7p *w7p) each 127p or
711 must be divided equally amongst the 0°1772 and one cannot exchange his portion
in one J27p for a share in another j327p. The 8n*92 concludes that we derive this rule
by o°%p ow7p as well since after the 77N writes' XD WX (from where we derive
the rule by o°w7p *w7p), it immediately writes 7710 v ax (which is 2°%p w7p), to
teach us this rule by o°%p o°w1p as well. mpoIn challenges the validity of this 7wn17.

n1voIN asks:
= 1990 MIYNA NN 209990 WIIT XY AN 229 201119 2295 1Y 199719 KNI 9NN ON)

And if you will say; but we establish this Xn>72 according to >''9, but >'' does

not expound 22129, only in 57910 7R, but not in Xp" wnn, where these o°p109 are found -
=(x,797) 5792 U912 NSPINTD

As is mentioned in the beginning of n1722° NJon. How can we assume that *"7 is the author
of this xn™2?!

N190IN answers:
- PYND PIY Y 4901 179 NIN YT YNNI D3N INTT Y Y

And one can say; that °"7 is not actually expounding 2°22%, but rather he

expounds the w17 that a 1'% adds on the first (previous) concept -
$09IDYWN NAT NNN NN ¢ xvpn) 39097

For it is written (after 1°nX> v°X), ‘and this is the rule of the 27w sacrifice’.

Summary
We derive the rule of 2P PR by 2°%p 0°w7p from the PRI PIv 5¥ 79°01 1" which

is written by 2% (but not from the m>°»0 of 770 ¥ OR).

Thinking it over

! The three 0’109 (in 2>-,7 [1¥] X1P") read: 1127 NIIA DX LR I8D WK TR 199K °32 227 7200 w2 A2 angn 991 .0
3133272 7R PV OX .20 .2 292 WK 0w, See ‘Thinking it over’.

2 See the 813 immediately which states 191 7777 "1 X190 ano.

3 >3m0 means near or close; when two ideas are written next to each other we can derive certain laws from each other.
However »"1 limits this type of 7wn7 to 70 mawn (the 127 wnn) only.

4 The fact that two 0’109 are near each other is no cause to expound 2°3m0 (except in 770 7awn), however when a
verse begins with a 1" (“and’), this indicates that it is a continuation from the previous verse. In our case too, the 1"
of on5wi mar n7In nXN indicates that also by 2n?w (which are 0°%p o°w7p) the rule of 1M WX applies.

3 %> p1os. See footnote # 1.
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Why does the X na cite the P09 of 770 v oR, if we actually derive it from the
previous 109 of 2°n7wn nar nMn NN (for even if it is actually derived from 2°210,
the ?oo which is 710 is "3 N0 NRM)?6

6 See 9"wnmn and Awn nNom.
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